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A. The IT Infrastructure Library. 
B. The Environmental Systems Method. 
C. The Green Data Centre Toolkit. 
D. The Custom Development Framework 

Answer: A 

QUESTION: 123 
The Carbon Footprint comprises two parts. Which of the following is part of the secondary 
footprint? 

A. Recycling a server. 
B. Travelling to the office.  
C. Opening a spreadsheet.  
D. Printing out a report. 

Answer: A 

QUESTION: 124 

Which of the following is a role of Asset and Configuration Management within Green IT?
 

A. To identify where new data centres can be located. 
B. To identify where old computer parts can be recycled.  
C. To identify where computer equipment can be re-used.  
D. To identify where existing servers can be moved. 

Answer: B 

QUESTION: 125 

How often should you review your Green IT Action Plan?
 

A. At least annually. 
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B. At least biannually. 
C. At least weekly. 
D. At least monthly. 

Answer: A 

QUESTION: 126 

Which term is commonly associated with green building? 


A. Sustainable design. 
B. Sustainable living. 
C. Sustainable location. 
D. Sustainable construction. 

Answer: A 

QUESTION: 127 

Which of the following is a goal of the WEEE directive?
 

A. To remove hazardous chemical from electrical products.  
B. To increase the raw materials used in electrical products. 
C. To provide clear labelling on all electrical products. 
D. To reduce the manufacturing of new electrical products. 

Answer: D 

QUESTION: 128 

Which parts of a printer is most often recycled? 


A. The LCD display. 
B. The toner cartridge. 
C. The paper tray. 
D. The print drum.  
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Answer: B 

QUESTION: 129 

What is the purpose of the EU Code of Conduct for data centres?
 

A. To reduce energy consumption. 
B. To reduce C02 emissions.  
C. To reduce data capacity. 
D. To reduce server disposal. 

Answer: A 

QUESTION: 130 
Which of the following could increase carbon emissions when introducing home-working to an 
organisation? 

A. Engineers need to travel to support IT equipment. 
B. Home-workers make more use of video conferencing. 
C. Existing equipment is re-used at the home site. 
D. Home-workers are more likely to take coffee breaks. 

Answer: A 

QUESTION: 131 

You have started a Green IT programme. Which of these is a critical success factor? 

a.Developing staff with the right knowledge and skills.  

b.Defining clear staff roles and responsibilities.  

c.Establishing and maintaining stakeholder buy-in.  

d.Establishing staff disciplinary procedures and penalties. 


A. c and d. 
B. a and d. 
C. b, c and d. 
D. a, b and c. 

43



 
 

 
 

 
 
 

 
 

 
 

Answer: D 

QUESTION: 132 

What action can you take to reduce the power consumption of your data centre?
 

A. Shut down servers out of business hours. 
B. Replace small servers with larger ones. 
C. Reallocate under-used servers to run active services. 
D. Upgrade servers to always run the latest software. 

Answer: C 
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